50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.
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Fifth Semester B.E. Degree Examiﬁ’éﬁon, Feb./Mar. 2022
Artificial Intelligence

“ 'Module-1

Define artificial intelligence. Explam different characteristics of the Al problems used for
analyzmg it to choose most approprlate method. — (08 Marks)

"‘\gugs first one w1th 4-Gallon capac1ty

A water jug problem states ﬁ‘lou are prov1ded Wlthg

(i1) Write any gryxe solution to the above | i;) a (10 Marks)
What is production system? (02 Marks)

Explaifihow AND-OR graphs aré.us¢ m (08 Marks)
What are the issues with Steepest Hill Chmblng efly cxplam Slmulated Annealing

algorithm. A (08 Marks)
Bring out differences betw ﬁi\ : arch algorithm.
' 4 P (04 Marks)
& Wg&
A Mo dulé*‘“z
Explain dlfferent ”pproaches to knowlcdge representatlon (10 Marks)
Lo (

Man (Marcus)
(1) Pompelan (Marcus) >
(iii) wx Pompelan X) - Roman (X)
(iv) Ruler (Caesar) )

(v) ¥Vx:Roman (x) >

«««««

(vil) Vx :Vy Man

»»»»»

Marcus Caesar),
Convert these mto clause form and pro% that hate (Marcus, Caesar) using resolution proof.

e (10 Marks)
] OR

Explain in detail about Eo’" d and Backward Reasoning. (06 Marks)

What is Matching in rule’based system? Briefly explain different proposals for matching.
A N (08 Marks)
List the issues in anWViedge representation. (06 Marks)

Y Module-3

What are the key issues which needs to be addressed by non-monotonic reasoning system?
(10 Marks)
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Write short notes on:
(i) Default logic
(ii) Closed World Assumption :
(iii) Justification Based Truth Maintenance Sf m g (10 Marks)

Write short notes on Bayesian Network W’L n example ®, (08 Marks)
Explain Dempster Shafer Theory with'a sultable example. & (08 Marks)
Draw a partitioned semantic netwqr% for "x‘Every dog has bltten Every Mail Carrier”.
WB% s (04 Marks)
|/ si?f* Module-4 &
Explain important componems of script with an example_ (06 Marks)
What is conceptual dependency? List the rules of cohc eptual dependency. (08 Marks)
Write short notes on: ./ e
Gy CYCL 8 ’
(i) Global Onj‘o gy” (06 Marks)
Write a Imte n Iteratlve Deepening.«_ * (06 Marks)
Show, cancéptual Dependency Regﬁe@entatlon of'the sentences:
(1) John sold his car to Bill ¢ ,;,m?%%%; !
(i1) John killed Mary o (06 Marks)
Explain the MINIMAX Algenthm ﬁ(«‘ (08 Marks)

Mo dulgﬁs
What is Natural Language Processmg‘7 Exp&gm dlﬁ'erent steps 1n NLP indetail. (10 Marks)

Write short notes én e Y :
1) Conceptuaij Ch*

(ii) SPELL checl “:ng [ (10 Marks)
(08 Marks)

erte in- deta11 about Explanatmn based learning. ¢ (06 Marks)
Deﬁne analogy. Explain t\ﬁg@ methods of Analagical problem solving in Al (06 Marks)
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